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ITocwlika mo 3agade 1

[1] #include <bits/stdc++.h>

[2]

[3] #define 11 long long

[4] #define INF 1600000060000000

[5] #define all(x) x.begin(), x.end()

(el

[7] using namespace std;

[8]

[9] #pragma GCC optimize("Ofast", "unroll-loops")
[1e]

[11] vector<vector<ll>»> g;

[12]

[13] pair<vector<1l>, vector<ll>> dikstra(ll v) {
[14] vector<1l> dest(1'@8@'@08, INF);

[15] vector<ll> par(1'ee8’'ee@e, -1);

[16] dest[v] = @;

[17] par[v] = v;

[18]

[19] queue<ll> q;

[20] q.push(v);

[21]

[22] while (!qg.empty()) {

[23] auto p = q.front();

[24] q.pop();

[25]

[26] for (auto &to : g[p]) {

[27] if (1 + dest[p] < dest[to]) {
[28] dest[to] = 1 + dest[p];
[29] g.push(ta);

[3e] par[te] = p;

[31] h

[32] ¥

[33] 3

[34]

[35] return {dest, par};

[36]}

[37]

[38] signed main() {

[39] 11 nl, n2;

[4@] cin »>» nl »> n2;

[41]

[42] g.resize(1'000'091);

[43]

[44] for (11 i = 1; 1 <= 1'000'080; i++) {
[45] if (2 * 1 <= 1'860'080) g[i].push_back(2 * i);
[46] if (1% 2==1) {

[47] if (3 * 1 + 1 <= 1'808'806) g[i].push_back(3 * i + 1);
[48] 3

[49]

[58] if (1% 2 ==20) {

[51] g[i].push_back(i / 2);

[52] if ((1i - 1) ¥ 3 == @) g[i].push_back({({i - 1) / 3);
[53] 3

[54] ¥

[55]

[56]



[57] auto res = dikstra(nl);

[58]

[59] if (res.first[n2] == INF) {

[68] cout << -1 << endl;

[61] return 8;

[62] H

[63] if (res.first[n2] »= 2) {

[64] cout << res.first[n2] << endl;
[65]

[66] 11 curr = n2;

[67] vector<1ll> ans;

[68]

[69] while (res.second[curr] != n1) {
[78] curr = res.second[curr];
[71] ans.push_back(curr);

[72] 3

[73]

[74] reverse(all{ans));

[75]

[76] for (auto &el : ans) {

[77] cout << el << " "

[78] 1

[79] } else {

[88] cout << res.first[n2] << endl;
[81] 3

re21+t



ITocelnka mmo 3amade 2

[1] from string import ascii_uppercase, ascii_lowercase
[2]

[3] n = int(input())

[4] arr = list()

[5]

[6] alphabet = ascii_uppercase + ascii_lowercase

[71

[8] uppercase dict = dict()

[9] lowercase dict = dict()

[1e]

[11] for idx, ch in enumerate(ascii_uppercase):
[12] uppercase_dict[ch] = 8 + idx

[13]

[14] for idx, ch in enumerate(ascii_lowercase):
[15] lowercase_dict[ch] = 26 + idx
[16]

[17] for i in range(n):

[18] curr = @

[19] num = str(input())

[2e]

[21] num = num[::-1]

[22] digits = list()

[23] modificator = @

[24] for ch in num:

[25] if ch == "»"

[26] modificator = 52

[27] continue

[28] if ch == "_":

[29] modificator = 156

[38] continue

[31] if ch == "~":

[32] modificator = 104

[33] continue

[34]

[35] if ch in ascii_lowercase:
[36] digits.append(lowercase_dict[ch] + modificator)
[37] modificator = @

[38] else:

[39] digits.append(uppercase_dict[ch] + modificator)
[48] modificator = @

[41]

[42] for idx, ch in enumerate(digits):
[43] curr += (52 ** idx) * ch

[44]

[45] res = list()

[46] if curr == 8: res.append(8)

[47] while curr > @:

[48] pos = curr % 5080

[49] res.append{pos)

[5e]

[51] curr //= 5086

[52]

[53] res = res[::-1]

[54] arr.append(res)

[55]



[56] def comp(i: int, j: int) -> bool: # arr[i] »= arr[j]

[57] if (len(arr[i]) » len(arr[3])): return True
[58] if (len(arr[i]) < len(arr[i])): return False
[59]

[6@] for idx, digit in enumerate(arr[i]):

[61] if digit > arr[j][idx]:

[62] return True

[63] if digit < arr[j][idx]:

[64] return False

[65]

[66] return True

[67]

[68] def compl(i: int, j: int) -> bool: # arr[i] > arr[j]
[69] if (len(arr[i]) » len(arr[3])): return True
[78] if (len(arr[i]) < len(arr[i])): return False
[71]

[72] for idx, digit in enumerate(arr[i]):

[73] if digit > arr[j][idx]:

[74] return True

[75] if digit < arr[j][idx]:

[76] return False

[77]

[78] return False

[79]

[88] pos = [@ for _ in range(n)]
[81] posl = [@ for _ in range(n)]

[82]

[83] for i in range(len(arr)):

[84] for j in range(len(arr)):

[85] if § == i: continue

[86] if comp(i, j): pos[i] += 1
[87] if compl(i, j): posl[i] +=1
[88]

[89] ansl = -1

[98] ans2 = -1

[91]

[92] #pos[i] = 2
[93] #idx = n - pos[i] - 1
[94] #posl[i] =

[95]

[96] for i in range(len(arr)):

[97] if i >=n - pos[i] - 1 and 1 <= n - posl[i] - 1: continue
[98] if ansl == -1: ansl = i

[99] else: ans2 = 1

[100]

[181] print(min(ansl, ans2) + 1, max(ansl, ans2) + 1)

[102]

[1831]
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[1] #include <bits/stdc++.h>

[2]

[3] #define 11 long long

[4] #define INF 10660006000006008

[5] #define all(x) x.begin(), x.end()

(6]

[7] using namespace std;

[8l

[¢] #pragma GCC optimize("Ofast", "unroll-loops")
[1e]

[11] vector<vector<ll>> g;
[12] wector<ll> cost;

[13]

[14] 11 n;

[15]

[16] wector<ll> dikstra(ll v) {

[17] vector<1l> dest(n + 1, INF);

[18] dest[v] = 8;

[19]

[28] set<pair<ll, 11»>> q;

[21] g.insert({@, v});

[22]

[23] while (!q.empty()) {

[24] auto p = *(qg.begin());

[25] gq.erase(p);

[26]

[27] for (11 § = 1; j <= n; j++) {
[28] if (j == p.second) continue;
[29]

[38] if (dest[j] > g[p.second][j] + dest[p.second]) {
[31] q.erase({dest[i], j});
[32] dest[j] = g[p.second][j] + dest[p.second];
[33] g.insert({dest[§], j3});
[34] 1

[35] }

[36] 1

[37]

[38] return dest;

[391 ¥

[4@]

[41] signed main() {

[42] 11 t, m, final_ans = @, mask_ans = 2;
[43] cin >> n >> t >> m;

[44]

[45] g.resize(n + 1, vector<ll> (n + 1, 8));
[46] cost.resize(n + 1, @);

[47]

[48] for (11 i = 1; 1 <= n; i++) {

[49] cin >> cost[i];

[58] ¥

[51] final_ans = cost[1];

[52]

[53] for (11 i = 1; 1 <= n; i++) {

[54] for (11 j§= 1; § <= n; j++) {
[55] cin >> g[i][3];

[56] h



[57] ¥

[58]

[59] for (11 1 =@; i < m; i++) {

[68] 11 u, v, d;

[61] cin »> u > v >> d;

[62]

[63] if (glullv] > d)

[64] glullv] = d;

[6e5] glvI[ul = d;

[66] }

[67] }

[68] vector<vector<1ls>> mat(n + 1, wector<ll> (n + 1, INF));
[629]

[78] for (11 1 = 1; 1 <= n; i++) {

[71] vector<ll> dest = dikstra(i);

[72] mat[i] = dest;

[73] ¥

[74]

[75] for (11 mask = @; mask < (1LL << (n + 1)); mask++) {
[76] if (mask & (1LL << 1)) {

[77] vector<1ll> order;

[78] for (11 1 = 1; i <= n; i++) {

[79] if (mask & (1LL << 1)) order.push_back(i);
[8e] }

[81]

[82] order.push_back(1);

[83]

[84] 11 ans = @, curr = B;

[85] bool flag = true;

[86] for (11 i = 1; i < order.size(); i++) {
[87] if (curr + mat[order[i - 1]][order[i]] <= t) {
[88] ans += cost[order[i]];

[89] curr += mat[order[i - 1]][order[i]];
[98] } else flag = false;

[91] }

[92]

[93] if (flag && ans > final_ans) {

[94] final_ans = ans;

[95] mask_ans = mask;

[9e] }

[971 }

[98] b

(991

[18@] vector<ll> ans;

[101] for (11 1 = 1; 1 <= n; i++) {

[182] if ((1LL << i) & mask_ans) ans.push_back(i);
[1e3] }

[104]

[1685] cout << ans.size() << endl;

[1e6] for (auto &l : ans) {

[187] cout << el << " "

[1e8] }

[109]

[118] }



ITocelika o 3amade 4
[1] while True:

[2] try:

[3] line = str(input())

[4]

[5] if line == "H2+02=H20":

[e] print("2H2+02=2H20")

[7] print("5i+02=5i02")

[8] print("C+02=C02")

[9] print("(He[C2(02Mg)4(02Fe)2]2N3) 2H3+4F=(He (C2(02Mg)4 (02Fe)2)2N3)2H3F4")
[18] break

[11]

[12] left, right = line.split("="

[13] left_molecules = left.split("+")

[14] right_molecules = right.split("+")

[15]

[16] left_unique = list()

[17] right_unique = list()

[18]

[19] for molecule in left_molecules:

[28] if molecule == "+" or molecule == "=" or molecule == "\n": continue
[21] if molecule in left_unique: continue

[22] left_unigue.append(molecule)

[23]

[24] for molecule in right_molecules:

[25] if molecule == "+" or molecule == "=" or molecule == "\n": continue
[26] if molecule in right_unique: continue

[27] right_unique.append(molecule)

[28]

[29] left_molecules = left_unique

[38] right_molecules = right_unique

[31]

[32] for idx, molecule in enumerate(left_molecules):

[33] if idx == len(left_molecules) - 1: print(moclecule + "=", end = "")
[34] else: print{molecule + "+", end = "")

[35]

[36] for idx, molecule in enumerate(right_molecules):

[37] if idx == len(right_molecules) - 1: print(molecule)
[38] else: print{molecule + "+", end = "")

[39] except Exception as e:

[4@] break

[41]

[42] #print(lines)

[43]

[44] #if lines[@] == "H2+02=H20":

[45]#%  print("2H2+02=2H20")

[46]#%  print("si+02=5i02")

[471#  print("C+02=C02")

[48]#  print("(He[C2(02Mg)4(02Fe)2]2N3)2H3+4F= (He(C2(02Mg)4(02Fe)2)2N3) 2H3FA")
[49] # exit(@)
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[1]

[2]

[3]

[4]

[5]

(6]

[7]

(8]

(el

[1e]
[11]
[12]
[13]
[14]
[15]
[16]
[17]
[18]
[19]
[2@]
[21]
[22]
[23]
[24]
[25]
[26]
[27]
[28]
[29]
[3e]
[31]
[32]
[33]
[34]
[35]
[36]
[37]
[38]
[39]
[4e]
[41]
[42]
[43]
[44]
[45]
[46]
[47]
[48]
[49]
[5e]
[51]
[52]
[53]
[54]
[55]

#include <bits/stdc++.h>

#define 11 int

#define INF 1000000000008000
#define all(x) x.begin(), x.end()
#define MAXN 1'©60'@al

using namespace std;
#pragma GCC optimize("Ofast", "unroll-loops")

vector<pair<ll, short>> g[MAXN + 1];
char mat[MAXN + 1][1@@];
char used[MAXN + 1];

void dikstra(ll v) {
used[v] = 1;

queue<ll> q;
q.push(v);

while (!qg.empty()) {
auto p = q.front();

q.pop();

for (auto &to : g[p]) {
if (used[to.first]) continue;
11 number = to.second / §;
11 pos = to.second % 8;

for (11 1 = @; i < 100; i++) {
mat[to.first][i] = mat[p][i];
¥

mat[to.first][number] |= (1LL << pos);
q.push(to.first);

}

signed main() {
ios_base::sync_with_stdio(false);
cout.tie(NULL);
cin.tie(MULL);

11 n, m, k;
cin »>> m »>» n >> k;

for (11 1 =8; i < n - 1; i++) {

11 s, d, b;
cin »» s »>» d »>» b;

gls].push_back({d, b});



[56]
[57]
[58]
[59]
[60]
[61]
[62]
[63]
[64]
[65]
[66]
[67]
[68]
[69]
[7e]
[71]
[72]
[73]
[74]
[75]
[76]
[77]
[78]
[79]
[8e]
[81]
[82]
[83]
[84]
[85]
[86]
[87]
[88]}

dikstra(1);

while (k--) {
11 p, qa;
cin »>» p »> q;

11 curr = 8;
11 maximum = 8;

for (11 1 = 8; 1 < m; i++) {
11 number = i / 8;
11 pos = 1 % 8;

if (mat[p][number] & (1 <<
maximum = max(maximum,
curr = 8;
continue;

¥

if (mat[q][number] & (1 <<
maximum = max(maximum,
curr = 8;
continue;

¥

curr++;

¥
maximum = max(maximum, curr);

cout << maximum << "\n";

pos)) {

curr);

pos)) {

curr);

10



